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� 3-fcf,/Maximum marks: 60 

1. fciq;fc:r (strain) q;r � cRIT 6/Unit of strain is:
C. " 

a) N/mm2 b) mm2 c) mm

�/Time: 1 � hours 2 

d) � ;;:,ti"/No unit" 

2. Fa-lMR>lu?lct Jr* 3TTt=r � cfi'to:r-m 6/Which of the following is a proper sequence?
.;, 

a) flJ.llo1qifaq; �. $c>llR!c:.ch �. �. �lf>C'lc-ll/ Proportional limit, elastic limit, yielding, failure
.;, 

b) $C'llff:c:.ch �. flJ.llo1q1fach �. �. �lhc>lctl/Elastic limit, proportional limit, yielding, failure
.;, 

c) �. -HJ.llo1q1fach �. $C'lli+c:.ch ffrnr, �lhc>lc1I/Vielding, proportional limit, elastic limit, failure
.;, 

d) 3q4cfc1 Jr � � �/None of the above
.;, 

3. Q"ch" P c'fo1o'f � <t- m.fr.:r L � � <t- Q"ch" ctgq;r e mm �f-ff{DI � 61 c;us 'ti 3,q1f?.c1 �
C. 

(strain) t

A bar of length L metres extends bye mm under a tensile force of P. The strain produced in the bar is :

a) e/L b)0.1 e/L c) 0.01 e/L d) 0.001 t/L

4. � Q"ch" cfFc=f, � � <fi' cfl;;:r q1{f-q�q; � � <fi' m.fr.:r * � 6, � � 311<.lcto-!f.Ar11<.1.;, 

fc1q;fc:r q-{' $Mcllc4 � � <t- �qi)'� 6:
C. .;, 

When a body is subjected to three mutually perpendicular stresses of equal intensity, the ratio of direct
stress to the corresponding volumetric strain is known as:

a) � J.j']'q'lcf,/Voung's modulus

c) � �/Bulk modulus
.;, 

b) Rc=rr q;r J.j']'q'lcf,/ Modulus of rigidity

d) 'CcfT'flT .3-fcrflTTci'/Poisson' s ratio
.;, 

5. Q"ch" � Jr Q"ch" cfFc1 Q"ch" � c'fo1o'f � ( a) q;r st�crflch{DI � 61 � OOTo, <t" ------- 9'"{' 
.;, 

i;rcrc=a- ��To, <t" � � � � 6 IC. 

A body is subjected to a direct tensile stress ( a) in one plane. The shear stress is maximum at a section
inclined at----- to the normal of the section:

a) 45° and 90° ·b) 45° and 135° c) 60° and 150° d) 30° and 135° 

6. I � � � J,Cfc1' AA* �� * s11mr: � � q;r � i:h{�cllc>ll Clef% Rm* i;rta � w
.;, " " 

� <t- Q"ch" �t'IR>lcl{ � q;r � 3rrq_o1' % � * ------ 61 

The bending moment of a cantilever beam of length I and carrying a gradually varying load from zero at 
free end and w per unit length at the fixed end is------- at the fixed end: 

a) wl/2 b) wl c) wl2 /2



7. lJcfl � � ffl -ti fo.lJ-.o-lfc.l ffilc1 * * m-m lJcfl fctl.fic>lrll .=fts c;,ffe �?/In a riveted lap joint, which
one is not a failure mode?

a)� "1 Rtc.I{0I Rilfic>lrll/Tearing failure of plate b) � cfi" � Rtlfic>lcil/Bearing failure of plate

c) � cfi" � Rilfic>lril/Shearing failure of plate d) ftcfc cfi" c,a,a1 Rilfic>lrll/Tensile failure of rivet

8. E=2X105 N/mm2 c):;- 10mm e<1Rf � Rt;, c;us cf>)" 2000mm e<1Rf * � � (bending) �

fcichff!c1 � <Rrf ITTcTT �?/What is the stress developed in bending a 10mm diameter steel rod of

E=2X105 N/mm2 to 2000mm diameter?

a) 500 N/mm2 b) 2000 N/mm2 c) 1000 N/mm2 d) 981 N/mm2 

------- cfi" � �/The shaft subjected to bending moment M and twisting moment T simultaneously. 

The equivalent twisting moment is equal to: 

10. 't' � cfi'r lJcfl Wci" * 'd' e<1Rf cfi1' lJcfl TTR;, i::f'q � 6", ill lJcfl fig i::f'q � cfi" � � �� 
..... cfi" � 6° : / When a hole of diameter 'd' is punched in a metal of thickness 't', then the force

required to punch a hole is equal to:

a) d.t.Tu b) n:.d.t.Tu 

� Tu
= � cfi" � cfi1' � � �/where Tu

= Ultimate shear strength of the material of . - , 

the plate 

11. � � U?:cf, cfi'r -c:rmTTlifT ........ c):;- � c):;- m * cfi'r � t,

Stress concentration factor is defined as the ratio of: 

a) � � * � �/maximum stress to the endurance limit

b) � � * a-llJ-lJ-ll::l � /nominal stress to the endurance-limit

c) crllJ-lJ-ll::l � * � � / maximum stress to the nominal stress

d) ��ti crllJ-lJ-ll::l � / nominal stress to the maximum stress

12. 1 m 'c<:l'IB cfi'r lJcfl � � * 1 N/mm2 
� cffi>IT lJcfl c'Rc>f (fluid) �I � tITrf * � c,a,a1� � 

� 20N/mm2 6°, ill � � cfi" � � tITrf cfi'r � �: / A metal pipe of 1 m diameter� 
contains a fluid having a pressure of 1 N/mm2

• If the permissible tensile stress in the metal is 20N/mm2
, 

then the thickness of the metal required for making the pipe will be:

a) 5 mm b) 10 mm c) 15 mm d) 25 mm

127 



13. �-m tm, illtfCTf q'{ � � facfiRlci <R"ill 6?
Which of the beams develop thermal stresses on heating?

b) c:fit'I('{lcl{/Cantilevera) � � �/Simply supported

c)�/Fixed d) � � � af6T/None of these

14 . .31TtlR' ct" � � 3feJ, ct" � * .31TtlR' � 'b' � � 'h' crrc;rr Vcfi' � ct" � 3iTQ1Jt " 
ct" � 6': /Moment of inertia of a triangle of base width 'b' and height 'h' with respect to the 

centroidal axis parallel to its base is equal to: 

d) bh3/36

15. Vcfi' ?;'cf cfiT -]UT mr, � ?;'cf ct" Vcfi' %f cfiT mm¢ %f tl'{ � � {lcf,cTT 6. cfiT � t /The
property of a liquid which offers resistance to the movement of one layer of liquid over another
adjacent layer of liquid is called:

a) qcs:oao11c1/Surface tension
C, 

c) c:\i�c>il�t'l/Capillarity

b) -HYl�•!frll/Compressibility

d) �<TT'o-l"fIT/Viscosity

16. � Vcfi' ?;'cf Vcfi' ;;,c;fr � � %<'TT 6. � ?;'cf cfiT � 6: /When a liquid is flowing through a pipe, the

velocity of the liquid is:

a) � * � 3-tR' � ct" � .,=;q_crtciJ.l/Maximum at the centre and minimum near the walls

b) � ii cr<lo-lciJ.l 3-tR' �ct"� �/Minimum at the centre and maximum near the walls
" 

c) � * �Tcr<l' 3-tR' a'icTm ct" � �/ Zero at the centre and maximum near the walls
" 

d) � * 3-tR' a'icTm ct" � �/Same at the centre and near the walls

17. � (fluid) * � ;:;i1a-lc11&fl cfilc--Yfaicfi 00, M � � � � t° ���*���IT

� 6. 3"B' � ti The imaginary line drawn in the fluid in such a way that the tangent to any point

gives the direction of motion at that point is known as:

a) tm �/Path line

c) 'RTcfi' �/Steak line

b}@di �/Stream line 

· d} � � / Potential line

18. ist{a11<>1l ct" ,HJ-t1cfi{01 ct" � Vcfi' � .ft-HY1sa11<1 � � ct" fc;:!-v /According to Bernoulli's equation
.:, " 

for a perfect incompressible fluid flow: 

c) Z - .2. + ::� = constant
v: 2§ 

<l'ir Z � �M. p �. w �. v � c'lm g m;c=cr ct" cfi'R'OT c'cRUT ti/where Z is the potential 
.:, 

head, p is the pressure , w is the density, v is the velocity and g is acceleration due to gravity 

D 



19. 'Q'cf) � ... �fiJ.JILt"I � 3NBR'r * � � 0T cfiT cTT6f /The pressure of the liquid flowing through the

divergent of a venturi meter:

a)�� �"/Remains constant
c) Ucc'IT tlDecreases

b) %c'fT ti Increases

d) 0T � i;'.c<-IJ.llo-l "CR' �/Depends upon mass of liquid

20. �oil<"'�fl � ....... * � <ifc>I' cfiT � 6/Reynold's number is the ratio of the inertia force to the: 

a) qis:cc1o11c:1 <ifc>l'/Surface tension force
C. 

c)� <ifc>I'/ Gravity force
.:> 

b) �<TT'a'f <ifc>l'/Viscous force

d) � <ifc>l'/Elastic force

21. sRff � � � � � � � cfiRUi e;Mc:11<>1"1 �� cf;'r � ti According to Darcy's formula, the loss
"' .:> 

of head due to friction in the pipe is:

b) tt�•�
,

g

c. 

3/l.-;t....,
c) 

<liflwhere f = sRff � �/Darcy's coefficient, 
I= � cf;'r �/length of pipe 

d) 

v = � � 0T cfiT a.T/velocity of liquid in pipe, rim/and 
d = � cfiT e<lRr/diameter of pipe. 

22. J:JRs � 6 * 3fTUcf, �"CR'� qi)-� t;
When the Mach number is more than 6, the flow is called:

a) 3-lclt-� �/Sub-sonic flow

c) � �/Supersonic flow

b) 'L� �/Sonic flow

d) � �/Hypersonic flow.

23. 'Q'cf) � 311<-lcilchl{ TacR' * i$lcrlc:llc4 ffitJJo-1 ....... � � � 61

The discharge through a small rectangular orifice is given by: 

a) Q = Ca .X ax -/2gh 

c) Q = "!x: 
,:�iJ·-

b) Q =�Cd. .x a X ;�� 
d) 

<liflwhere C;;; = TacR' � fc;l,:i ffitJJo-1 cfiT dfCllTch"/ coefficient of discharge for the orifice, 
.:> 

a = TacR cfiT � cfilc �/cross - sectional area of the orifice, 

h = TacR' � � � � 0T cf;'r �/height of the liquid above the centre of the orifice 



24. 1Jq; c.__fclRf,,1.11 \.fr,!.lldllJ.i"i tj"q- c!1T � tier fclttJcrl 6°:
The discharge per hour of a double acting reciprocating pump is:

a) 120 L.A. N

�/where 

b) 2L. A. N

L = 3m:ffi=f � �/length of stroke, 

. .., • A �, 

d ) .:.:::.:..._.:: 

A=� c!1T � cl,lc amc;r/cross sectional area of piston �/and 

N = .:Hi{91QJ-1 * tcfi � 'd"ffcilspeed of crank in RPM 

25. rn � 1)-m cfi' � cfi' fi;iv tllJ-tici--,Q fa:rm:r 6:

The general law for the expansion or compression of gases is:

a) pv = C b) pv = m RT

26. cfil{crllc. ifsFl � fo:l;i:;;,Q@ c'1 * � cRIT-<RTT mer 6°/Carnot cycle consists of:

a) cJ .:tt4Rc1faa � Ver cJ .:Hi$flcrl?ltil \.lRtilliQ/ Two constant volume and two isentropic processes

b) cJ tlcl-tcilcfl Ver cJ .:ttl$flcrl?ltil \.lRtilliQ/ Two isothermal and two isentropic processes

c) cJ 31qf{c1fac1 � Ver cJ .:tl1$tlcrl?iti"i l,lfsi:,,1.110'/ Two constant pressure and two isentropic processes

d) 1Jq; .31qf{c1fac1 �. 1Jq; 31qf{c1fac1 �VcfcJ 311$flcrl?iti"i l,lfsi:,,1.110'/ One constant volume, one
constant pressure and two isentropic processes 

27. 1Jq; � � ( si mp I e pend u I um) cfi' fi;l"Q" 1Jq; � c!1T q f°{sf,J-1 a I cf>T(>f:
The periodic time of one oscillation for a simple pendulum is:

a) 2 ;r j�
"\' 

b) 
r, 

c) 2 ;r/.:...
"\jB 

1 fd) -
/
-

2n\ g 

2s. � s cfi' c:r wm Tmro' * so Ver 20 c;tcr mer g-, � VcRRTT cfi' � � � 6=
Two mating gears of module 5 have 50 and 20 teeth. The distance between their axes is: 

a)350 b)200 c) 175 d) 140 

Which set does not represent the sides of a right angled triangle? 

a) 12, 16, 20 b) 9, 5, 6 c) 6,10, 8 d) 15, 25, 20

In order to gain toughness in hardened steel, the process usually adopted is: 

a) �/Tempering b) <1T4Tcrl"�\t=la;/Annealing 
.:, 

c) \.ltl IJ-t l.--'41cfi{O I/Normalizing 



31. � fcrnr(dimension) ���nm��� ffi" � .3icR cfi)- � f
The difference between the upper limit and lower limit of a dimension is called:

a} � 3-flcfiR"/Nominal size

c) cfi@Rlc:ti 3-flcfiR"/Actual size

b} � 3TTcfiR /Basic size
" 

d} �/Tolerance

32. � .=rc;r � 6, �/ A basic hole is one whose:
" 

a)� Rlil�ai �T<r<l" &! Lower deviation is zero
" 

b} � Rli.l�o-i �T<r<l" &! Upper deviation is zero
" 

c) � 'Q"cf � Rlil�oi �T<r<l" 'ti Lower and upper deviations are zero" 
d} ¢ * � �/None of these

33. ����TT� .3,a'RiR 100 H6/g5 c:fiT � t:
.:, 

According to Indian standard specifications, 100 H6/g5 means that:

a) � � fu � � 6 3-ITT" �!Nc � fu 5 &I/Tolerance grade for the hole is 6 and for the

shaft is 5

b} �!Nc � fu � � 6 3ffi � � fu 5 &I/Tolerance grade for the shaft is 6 and for the

hole is 5

c} �!Nc � fu � � 4 * 8 3ffi � � fu 3 * 7 &!/Tolerance grade for the shaft is 4 to 8

and for the hole is 3 to 7

d) � � fu � � 4 * 8 3ffi �!Nc � fu 3 * 7 &I/Tolerance grade for the hole is 4 to 8

and for the shaft is 3 to 7

34. � ............... � * � � i;rm:J' * ftN � � �oiticH � 3-ITT" � � flcHlft'a qz � 

c'fc:fi' � 61/ln ................ operation, the chip thickness is minimum at the beginning of the cut and
.:, 

reaches maximum when the cut terminates 

a} 41{4Ri:fi �/Conventional milling

c} � �/Face milling

b) � �/Climb milling

d) VaZ �/End milling 

35. �3TT � � � fu � c:fiTOT &!The included angle for the ISO metric thread is:

a) 29° b) 47.5° c} 55° d) 60° 

36. M 24 x 2 � � cfiT � 6 'r<f;/A bolt of M 24 x 2 means that:

a) � � �(�) 24 mm 6 3ffi � 2 mm/The pitch of the thread is 24 mm and depth

is 2mm

b} � cfiT � cfiJc � 24 mm2 trl /Cross-sectional area of the threads is 24 mm2 

. .:, 



c) � q;r � e<lffi 24 mm t 3-tTt � 2 mm/The nominal diameter of bolt is 24 mm and pitch

is 2mm
d) � q;r � e<lffi 24 mm t 3-tTt i;rfi:r *.J:fr. 2 � t11 The effective diameter of bolt is 24 mm

and there are 2 threads per cm.

Which of the following property is desirable in parts subjected to shock and impact loads? 

a) �rfctc:r/Strength b) �/Stiffness c) �/Brittleness
.:, .:, 

d}�/Toughness

38. � mt � � cfi'r �rc=rc=rr - * 9�clmrl ITT'RT 6"/The percentage of carbon in cast iron varies from:

a) 0.1 to 0.5 b) 0.5 to 1 c) 1 to 1.7 d) 1.7 to 4.5

39. l!cl, � � ------ � cfi'I' a,.:rc=rr t �/The stiffness is the ability of a material to resist:

a) � � .3mTo, �/Deformation under stress

b) � m � � m $Mc11c-11 �/Fracture due to high impact loads

c) � m q-m:rq;;:r * �: .,;-Jcr1\.lllcfc1 �/ Externally applied forces with breakdown or yielding
.:, .:, 

d) 39�{cfc'i � * � �/None of the above
.:, 

40. �mt� 3,9It;cri � fc:!v � '\.l<lcFci' mt cfi'I' � mc=r (�) ttThe iron ore mostly used for
.:, .:, 

the production of pig iron is:

a) JjJcriC:1$E/Magnetite

c) ffiJ.1□II$E/ Limonite

b) 6J.IEl$c./Haematite

d) \'fls{l$C:/Siderite

41. � � � c1�ffi<lJ.1 � G'{'/Vanadium when added to steel:

a) c=ra=ra, �rfctc:r � ttlncreases tensile strength b) c=ra=ra, �rfctc:r uCc'fi t/Decreases tensile strength

c) sliifc:rcfi' c=rrcr 3orlT 6'/Raises critical temperature d) � c=rrcr xRc1T 6'/Lowers critical temperature

42. 18/8 � � � �� ti 18/8 stainless steel consists of:

a) 18% � nm 8 % c;hl\"Ji<lJ.1/ 18% nickel and 8 % chromium

b) 18% c;hl\"JillJ.1 nm 8 % �/ 18% chromium and 8 % nickel

c) 18% c1�ffi<lJ-J nm 8 % c;hl\"Ji<lJ.1/ 18% vanadium and 8% chromium

d) 18% � nm 8 % c1�ffi,4J.1/ 18% nickel and 8% vanadium

4 3. � � � fc:rv fo:p::;;, � � 6'/The lower critical point for all steels is: 

a) 6oo·c b) 700° C c) 723°( d) 91 3°C 



44. f.:IFJ:c>iffilci Jt � � fc:rv � cfi1 \.lf!IJ.llcr<-1..,lc:h{□I � aTill 6/Normalising of steel is done to:

a) oTaf � cfi' �m.Juf cfi' fc:rv/Refine the grain structure

b) �rrc, fsRlr cfi' c:hT{'OT � fctc:hfc:r c:hT � cfi' fc:rv/ Remove strains caused by cold working
,.') c.. 

c) ci"Cci' fsRlr cfi' c:fiRUT � �m Jt � � c:hT � cfi' fc:rv/Remove dislocations caused in
,.') 

the internal structure due to hot working d) 394cfc1 mfr/all of the above
,.') 

45. tlt,c;r f.:!Affi@a Jt � fctio,_� �� 6/Brass is an alloy of:
,.') 

a) am Vcf �/copper and zinc b) am Vcf fEa:1-/copper and tin

c) am, fEa:1- Vcf �/copper, tin and zinc d) ¢ � � .,ffe/none of these

46. $a-lc:hla-lc>i tr �rm=rc;i- �/lnconel contains:

a) 65% �/nickel, 15% i;i,l�<-lJ.l/chromium c=Tm/and 20% �/iron

b) 68% �/nickel, 29% am/copperc=Tm/and 3% � �/other constituents

c) 80% �/nickel ci"m/and 20 % i;i,)�.!.lJ-l/chromium

d) 80% �/nickel, 14% i;i,)�./.lJ-l/chromium and 6% �/iron.

A taper provided on the pattern for its easy and clean withdrawal from the mould is known as: 

a) m!'rfo:m Qc>iclcrft/Machining allowance

c) � QC'iclcrft/Shrinkage allowance

b) � QC'iclcrft/Draft allowance-

d) '!%m�ro=r Qc>iclci-ft/Distortion allowance

48. � * arc cfiT � cf<-lT 6/The purpose of a gate in casting is to:

a) "ftfur c:hTIT Jt � Qlc'f �/ Deliver molten metal into the mould cavity
,.') 

b) � Qlc'f cfi' fc:rv 'Qcl, �c):;- � * c:hT4- cf,{"o'IT/Act as a reservoir for the molten metal
,.') 

c) � -a1m cfi1 f.:lc:hlfta-l/ Vent out trapped gases

d) "ftfur c:hTIT c:hT 3TTcfiR" 1R:firf cf,{"o'IT/Provide shape to the mould cavity

49. � � Jt � $c>!cfs;,'1s1 c):;- fc;J'Q- ... � aiTcf> M 61
The electrodes used in spot welding have a tip of:

a) � �/Stainless steel b) QC".!.l�f-:1.!.lJ-J/Aluminium
" 

c) am/Copper d) tfic:rc;r/Brass



50. � � t fcl:;" � � � fi;)v � � � t, cncsf/The welding set up is said to have straight
,j 

polarity, when:

a) 9iT<T en)- q1�ticl c::rno1c>1 * � � � t 3-fR" $�ct?Ys � en)- amtrcr c::l"Ao1c>1 ff!
Work is connected to the positive terminal and the electrode holder to the negative terminal.

b) 9iT<T en)- � c:.l"Ao1c>1 ff � � � t 3-tR $�ct?ls � cfi)- q1�l1cl c:.l"Ao1c>1 ff!

Work is connected to the negative terminal and the electrode holder to the positive terminal.

c) 9iT<T cfi'l q1�tlcl c::rno1c>1 ;A"��� 6° 3ffi" $�i:f?ls � Cfif �� � � 6°/ Work is

connected to the positive terminal and the electrode holder is earthed

Work is connected to the negative terminal and the electrode holder is earthed 

51. f.:!J.v1f8:lrulci * � � � $�cf?IS Cfif � � � 6°/The consumable electrode is used in:

a) � ffi �/Carbon arc welding

c) tr� �/TIG welding

b) cc>11fclc1 m �/Submerged arc welding

d) 'Q"J:f� �/MIG welding

52. � � ;A" 1Fl'cFci' �, �-� �� 6°/Thermit, used in therm it welding, is a mixture of:
,j 

a) ill{i:fil\>l � .3-TT<loi" 3-11cffll$s/Charcoal and iron oxide
b) ill{i:filc>i � Qci-<-1..,J�f.:!<-1J-1/Charcoal and aluminium
c) .3-TT<loi" 3-11cffll$S i...rci Q<"<{_fJ:lf.:!<-1J-1/lron oxide and aluminium
d) ill{i:filc>i, .3-TT<loi" 3-11cffll$S i...rci Q<"<{_fJ:lf.:!<-1J-1/Charcoal, iron oxide and aluminium

53. 3-TTUi:fit�r 3-IT<'Rfr-Q�R.e>1"io1 � .... � � � 6°1/ Most of the oxy-acetylene welding is done with: 

a) � �/Neutral flame b) .:ttlcff1lsl$fft'a1 �/Oxidizing flame c) i:fil4{1$�·a1 �/Carburising

flame d) � �/All of these

54. f.:!J-.a-1f8:lffilc1 ;A" � � � � � � � � Cfif � � � 6°/CLA value is used to� � 
indicate: 

a) � fcr.Frr/Surface dimensions
(. 

c) M �/Surface roughness

b) M i:fi61{c'tl/Surface hardness

d) � �/Surface area
(. 

55. f.:!J.v1f8:lffilc1 ;A" � � 1,'�\'rfuf.r � � 3IBoo ftl"q � ITTcTT 'ti Discontinuous chips are formed

during machining of:

a) WR mcN/Brittle metals
,j ,j 

c) c:fi"'ciR mcN/Hard metals
,j 

b) � mcN/Ductile metals
,j 

d) ;i::rr. mcN/Soft metals
-i..3 ,j 



56. Qcf, � � 'tlRT 3-lR � c=:rc;r qi]' � Vcf c'IJl�cfio-1 � cfi)- � �/The operation of smoothing and

squaring the surface around a hole is known as:

a} � �/Counter sinking

c} �cq1foi·a11Trepanning

b} ��/Counter boring

d) � tMwr/Spot facing

57. Qcf, � � � cfiTOT qi]'�� t/The usual value of the point angle of a drill is:

a} 70° b} 100° c} 118° d) 130° 

58. fq:;i:fm1 qi]' � � � � ;;rrc:rr t/Fixtures are used:

a} �fce&ia1, f@iar m crftt:m t;ltjl<>lo-11 � � (�) cfi)- � 31)z fo14Gkt � � fc;!v
For holding and guiding the tool in drilling, reaming or tapping operations

b} �. dJl$fb1, c<>l1foi·a1 m � t;ltjl<>lo-11 * cfiT<r cfi)- � � �
For holding the work in milling, grinding, planning or turning operations

c} cfiT<r cf;'r �Ti[c'IT cf;'r ����/To check the accuracy of work piece
d) 39.Qi:fc-l * � cfil'"$' o-11ft'/None of the above.., 

59. Qcf, a:r�� � * � c1N �. Foi.Fo-1fc:l@c1 * � � � ft;tm aTill t?

What carries away maximum heat energy in a machining process?

a} ��/Coolant b)�/Tool c)Rl<r/Chip d) ffi/Work piece

Which of the following drawing symbols indicate flatness of a surface: 

a} // b) J_ c) D d) @

*************** 

/ 




